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Loopback 0
2.2.2.2
Loopback 0 R1
2.2.2.2 g

Loopback 0
1.1.1.1

el | .4 ed| 3

172.16.3.0/24

="

EtE 4

interface Loopback0

ip address 1.1.1.1 255.255.255.255
!
interface Loopbackl

ip address 10.10.10.10 255.255.255.0
!

interface Ethernet0

ip address 172.16.3.4 255.255.255.0
!
router rip

version 2

network 10.0.0.0

network 172.16.0.0

e E 3

interface Loopback0

ip address 2.2.2.2 255.255.255.255




interface Ethernet0

ip address 172.16.3.3 255.255.255.0

ip pim sparse-dense-mode

interface Seriall

ip address 172.16.13.3 255.255.255.0

clockrate 4000000

router eigrp 7
redistribute rip metric 1 1 1 1 1

network 172.16.0.0

router rip
version 2

network 172.16.0.0

cHE 1

interface Loopback0

ip address 2.2.2.2 255.255.255.0

interface Seriall

ip address 172.16.13.1 255.255.255.0

no ip mroute-cache

router eigrp 7
network 172.16.0.0

auto-summary

no eigrp log-neighbor-changes

HE EA

ol MHEEF JAH, P—?— E{ 32 EIGRPZ RIP(Routing Information Protocol) ZZ& A{H{Z &L |
CH. 37H°I 2t & ElolE L EIGRP EZZX| H 0|2 ¢LCl.



Router-3#show ip route

Codes: C - connected, S - static, I - IGRP, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area

N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2

E1 - OSPF external type 1, E2 - OSPF external type 2, E - EGP

i - IS-IS, L1 - IS-IS level-1, L2 - IS-IS level-2, ia - IS-IS inter area
* - candidate default, U - per-user static route, o - ODR

P - periodic downloaded static route

Gateway of last resort is not set

2.0.0.0/32 is subnetted, 1 subnets
C 2.2.2.2 is directly connected, Loopback0
R 10.0.0.0/8 [120/1] via 172.16.3.4, 00:00:25, Ethernet0 !--- Router 3 sees network 10.0.0.0.
172.16.0.0/24 is subnetted, 3 2 subnets C 172.16.13.0 is directly connected, Seriall C
172.16.3.0 is directly connected, Ethernet(0 router-3# router-3#show ip eigrp topology 10.0.0.0
255.0.0.0
IP-EIGRP (AS 7): topology entry for 10.0.0.0/8
State is Passive, Query origin flag is 1, 1 Successor(s), FD is 2560000256
Routing Descriptor Blocks:
0.0.0.0, from Redistributed, Send flag is 0x0
Composite metric is (2560000256/0), Route is External
Vector metric:
Minimum bandwidth is 1 Kbit
Total delay is 10 microseconds
Reliability is 1/255
Load is 1/255
Minimum MTU is 1
Hop count is 0
External data:
Originating router is 2.2.2.2 (this system) !--- Shows that Router 3 is the originating
router of the external route. AS number of route is 0 External protocol is RIP, external metric
is 1 Administrator tag is 0 (0x00000000) router-3#

0| £240{| M 2HRE{ 30| RIPE S5l HIE2/3 10.0.0.001 CH3H &t& 8t 22 &olgh 4 QlaLCt.
FMHIZE E6 ZE7} EIGRP EZZX| H0|E0| 28 B2 E QUAE|RES L
29| 27} EIRE{Y S Ho{ELICt EIGRP 2HE{ IDE 2.2.2.2¢]L|C}.

o E 32 2|F Z=2E& MEHistE

RJEos2 gtE 12t E H OIS0l &l = /&LcH
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EEZ=ZX| Elo|S0| ZAIELICH

router-1l#show ip route
Codes: C - connected, S - static, I - IGRP, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
E1 - OSPF external type 1, E2 - OSPF external type 2, E - EGP
i - IS-IS, L1 - IS-IS level-1, L2 - IS-IS level-2, ia - IS-IS inter area
* - candidate default, U - per-user static route, o - ODR
P - periodic downloaded static route

Gateway of last resort is not set

2.0.0.0/24 is subnetted, 1 subnets

C 2.2.2.0 is directly connected, Loopback0
172.16.0.0/24 is subnetted, 3 2 subnets
C 172.16.13.0 is directly connected, Seriall
D 172.16.3.0 [90/2195456] via 172.16.13.3, 00:31:59, Seriall

router-1#

router-1# show ip eigrp topology



IP-EIGRP Topology Table for AS(7)/ID(2.2.2.2)

Codes: P - Passive, A - Active, U - Update, Q - Query, R - Reply,
r - reply Status, s - sia Status

P 172.16.13.0/24, 1 successors, FD is 2169856

via Connected, Seriall
P 172.16.3.0/24, 1 successors, FD is 2195456

via 172.16.13.3 (2195456/281600), Seriall
router-1#

0| &240i1A1 10.0.0.0/82] ol & 27} Bt E| 12| 2t B0 E EIGRP EEZ2X| 0| Zof
e W2 Eolg = JU&Lct olz{st 7tset #el2 EE 13 32| EIGRP 2t E{ ID7I SY35t7|
[[H-E-.0=.'L—| Ct. Cisco 10S Software Release 12.0(2) 0|40 A Cisco= EIGRP O|HIE 210 5= 2}
LE IDE 7|S&LICt. O] IDE show ip eigrp events WO 2 £ £ QU&LICH CHS2 2FRE 101
CHet £23Lct.

router-1 #show ip eigrp events
Event information for AS 7:

1 18:06:15.863 Change queue emptied, entries: 1

2 18:06:15.863 Ignored route, metric: 10.0.0.0 2560512256

3 18:06:15.863 Ignored route, neighbor info: 172.16.13.3 Serial2
4 18:06:15.863 Ignored route, dup router: 2.2.2.2

I --- Output suppressed.
Ol 240l A 55 2t2E{ ID7F 2HREf 101 M 2t RE 32| B2 E $83t x| of= ol YLICt.
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router-1(config) #router eigrp 7
router-1(config-router) #eigrp router-id 3.3.3.3

# 1: Eigrp 2F2E{ IDE HZ 8 £ clear ip eigrp <AH5 A|AH W2 ASighL|CH
g

O|XM| 2|58 AZ7} o47|of| EAIE CHE 2t E! Ef|0|E0] LIEFLLCE.

router-l#show ip route
Codes: C - connected, S - static, I - IGRP, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF external type 1, E2 - OSPF external type 2, E - EGP
i - IS-IS, L1 - IS-IS level-1, L2 - IS-IS level-2, IA - IS-IS inter area
* - candidate default, U - per-user static route, o - ODR
P - periodic downloaded static route

Gateway of last resort is not set
2.0.0.0/24 is subnetted, 1 subnets

C 2.2.2.0 is directly connected, Loopback0
172.16.0.0/24 is subnetted, 2 subnets

C 172.16.13.0 is directly connected, Seriall



D 172.16.3.0 [90/2195456] via 172.16.13.3, 00:00:00, Seriall
D EX 10.0.0.0/8 [170/2560512256] via 172.16.13.3, 00:00:00, Seriall
router-1#
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